H & 0l & AHS B Ml A

20249 20lla LB FHAXRRL 2024-01-02 15:16:01

A TS EAING= I
M HII=2a

Ctel: dEHDI=Xcl EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SATHA 12,979,710 10,208,179 2,771,531
= 959,800
[ 1,483,280
= 2,171,500
Al 8,365,130
Ho|=2el 12,913,530 10,144,519 2,769,011
= 959,800
[ 1,483,280
= 2,171,500
Al 8,298,950
MEH DS X 9,970,420 7,671,522 2,298,898
= 959,800
= 76,100
< 2,171,500
Al 6,763,020
MDISENEE 396,852 382,212 14,640
201 fer= 3| 347,916 328,276 19,640
01 At 2|l 56,060 36,420 19,640
O ==H] 39,200
OF XS MeoI200] 28 =8
1,875,000& 1,875
OMgEsA Mg S M =&
1,650,000& 1,650
oMl S-S CHUE HIZ
223,600 *257h 5,590
Ood E28 Mt & ¢HUHE M
1,210,000 1,210
OdHDIZE XMelg &4 8= MH
5,000,000& 5,000
oMl 2ESI| og 82 =% MH
56,0002 *300HK 1,680
oMl SHSI| HE AEIH MH
1,000 «9300H 930
oty A2t M) EeltiE 2= M&
1,910,000& 1,910
OdEHIIE 2 2= MA
5,000,000& 5,000
oMYl nASE & SAHEF WIS 87
ZE T EXE HE
10,0003 *47H 2= 470
OSAEF HVIS 2d9M 82 5,585
- 55,870 *400HK 2,235
—oHi=2 1,430,000& 1,430
-8= 960,000 960
-AEl 960,000 960




2A:

AT

33 Hol=2c
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUEHIIZS 22t HHEAIAE(WIIZ) R
NEF=SH 825,000& x4= 7| 3,300
OAR4, 0lstd OIa, ZAaXtE 2eld #
°EgS 7Y 5,000,000 5,000
O=3=+4 800
OS4SR HYIS duEI /33 =¥
100,000 8% 800
Ol =] 11,100
OFAXtE 2 UI=H|
300,000&4+37H 11,100
O=t| 4,960
O=EldE=s =4 930,000 930
oMe)| SEM g 930,000 930
OFAXS KeoI=00] 28 =8
190,000 190
OHATA Y A2EZ
930,000 930
OSA=2%F HJI=+H g2FA
1,460,000& 1,460
OSAISFE HDI2 OIS HRFA
520,000& 520
2 35244l 291,856 291,85 0
OSZS22ZHA 9,690,000 9,690
OAEEEIS X 1,806,000& 1,806
Ot S| 280,360,000 280,360
202 04| 4,236 4,236
01 2K 4,236 4,236
OXeJ| SN gRFA 3,236,000& 3,236
OREHSI| &= =2 1,000,000 1,000
206 M=l 44,700 49,700 25,000
01 MZH| 44,700 49,700 /5,000
O3ASE HoI2 SIIEEN 9,700
O=HEE P (LNREL, AXI0t S)
1,000,000 1,000
OHRES MA(ZIHE) 5,700
-52IE 40 *30,000H 1,200
-102I& 5030, 000K 1,500
602/ & 502 +30,000H 1,500
-1202I & 50 *30,000H 1,500
OCEAMIZEE S4=E HEEI| 7Y
60,0002 +50H 3,000
ongszcls=HU dS0HH
35,000,000& 35,000
HE MY D= CIALS 1,825,991 1,897,441 AT1,450
101 21A4H| 38,579 37,026 1,553




2A:

AT

Zu: Hpi22e
Rl MEHDIS XL (SH9 H2)
SA - ZB . 9(BH) - HRAY ol b e HlmS2
M IIZtH22SEx 38,579 37,026 1,553
O=ESI| 01V 22| 2 38,579,000 38,579
201 2| 452,232 370,232 82,000
01 AtR2telt] 34,082 34,082 0
CEIRIEN=1E 21,742
OHAYY HREX 6,372,002 6,372
OBATIZ AAZ L AN 442
1,300,000& 1,300
OSYESIIEX EE2E HH
5,100,000& 5,100
042 Bl M| 2eltE F01E
2 470,000& 470
OHA3I| fIEK 2,000&*50074 1,000
OUEHDIZ tHE AEIA M
350& %10, 0000H 3,500
OFARR HUX IAE S HYBZHIS
2,000,000& 2,000
OZ2Z2ZH Rle! HNAES 2L
2,000,000& 2,000
O=2t| 11,240
O&EA gERFH 2,790,000& 2,790
OYXIHIIZ =HHM2l ZRFX
1,300,000& 1,300
OMYID| SYEI| OF2tetss ARFX
650,000 650
O2HA 54 22 SEHI
6,500,000& 6,500
[ DIbNE= 1,100
OYRIEIIZ +24Z| Ut
550,000 *23l 1,100
02 E324H| 408,150 326,150 82,000
O3=IZLHA 30,070,000& 30,070
O =h| 5,010,000& 5,010
OAEZEHIS X8I 14,000
OBAALE S AEHH SN
9,000,000& 9,000
OCCTV 2= St 5,000,000& 5,000
OXE | 282,070,000& 282,070
OENERS TSI LT
77,000,000& 77,000
03 &At2ZH] 10,000 10,000 0
O2013Hd M=sUs 10,000,000 10,000
202 o4t 4,690 4,690
01 =WO4bI 4,690 4,690
OMEM DX HRFA
3,690,000& 3,690

_3_




2A:

X XH -
o=

AT
HIl=2cl

elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogxl, ggHlI= & &l
1,000,000 1,000
206 M=l 217,490 226,990 /9,500
01 M=4l 217,490 226,990 29,500
OXD| AASE A (EHHS+RA4S3) 124,100
ObclHE 263 %50,0000H 1,300
O102I& 382%50,0000H 1,900
020cIH 632 300, 0000 18,900
O202IE (MBS F) 702 *400,0000H 28,000
0502 & 1383 %500, 0000HK 69,000
OAAZYXl MAr01= X%
10& %500, 0000H 5,000
O S M0t HMEH(HHE) 11,600
020cIH 3502 *20,0000H 7,000
0502 & 460 *10,0000H 4,600
O AHASE HMA(SSE) 21,550
0202 & 6321%50,0000H 3,150
O50cIE 138& %100, 0000H 13,800
OUHEE 50cIH 4602 %10, 0000HK 4,600
O ¥ &2 FAXE E3 21,240
OSctAEY 6,000 «70& *2H 840
oxz 600 70 x20Z il x 1290 2 10,080
OsURIEE B4 (5L)
180,000& *2CH* 1290 2 4,320
OELXEE E4(Z5S)
250,000 x2CH* 1200 = 6,000
O2aatt ZEMY =25 7Y
1,000,000 * 199K 2~ 19,000
OSSS)| 2X A e
5,000,000 *49H 2= 20,000
301 EtE NS 33,000 33,000
14 JIEH2 A3 33,000 33,000
OSHYS)| L A2 ADK ZAD
3,000,000& 3,000
Ols%2)| = HEMS 30,000,000& 30,000
307 el2to| & 750,000 750,000
05 212+ =S 750,000 750,000
O M| xeld Bt=or Hol= Xl
250,000 #2,000& 500,000
O, a2 SxIXeD] Mel
250,000 *600& 150,000
OMESXIE =HMAD| Xl
250,000 »400= 100,000
308 AXIHSOIA 100,000 222,503 122,503
07 HXHH 2L RES 100,000 156,008 A56,008




2A:

AT

33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdgH)I= M2 FE= 100,000
oaZMgJ| BE= 80,000,000& 80,000
OlE XD RBES 20,000,000 20,000
405 KHaHE SH 230,000 230,000
01 Tt =S F=HI 230,000 230,000
OAQd HEES =HAE 7Y
135,000,000 »1CH 135,000
OEEE +3{8 Y82 7Y
25,000, 0002 *27H 50,000
OSAEHEI| ME ABZY)| 7
40,000,000 = 1CH 40,000
OSiEx =18 7Y
250,000 2004 2 5,000
HES At 531,013 363,409 167,604
101 @124H| 241,121 100,201 140,920
MU IIRIMZENSES 241,121 100,201 140,920
OMEgEs d8 RAS 100,205
O&Al 215 QI2H|
9,860 *BAI2Hx27 L x 11 B 4 93,710
(OFSUNIRCIE St 1= 93,710,000 *6.93% 6.495
OMEES MFHE =20
140,916,000& 140,916
201 er2 3| 114,692 83,008 31,684
01 AtR2t2|HI 38,162 20,162 18,000
O+ 22,162
ONMEE MY 29 Y2EA
2,000,000 2,000
OTEE HBF ZHIEA 42
2,235,000& 2,235
oMz d8d dMijtdae] s
417,230 128 5,007
ONMEBE HLEE MUY BF 248
530,000 <22 1,060
OMEE HE8Y +HAIE ZIIAESAM =
== 930,000 23] 1,860
OAHZU HIIZA =2
2,000,000 2,000
ONEEHEY 23 MNRES 7Y
1,000,000 1,000
OUIIHHEAIE TIIEE =8
2,400,000& 2,400
OHg&s 2l X= 2,600,000& 2,600
ORI &EHl & JI77 HIIZA
1,000,000 1,000
OJIZtH=ZEN & 2g=23 7¢
1,000,000& 1,000
O=¢gl 2,000




2A:

AT

33 Hol=2c
=Hel dEHIISHc (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMER HEE 25
2,000, 0002 2,000
oz2IBSY) 4,000
OTHEE HBXE AgotEze| (13 2
4,000,000 4,000
ONEES MRHE 20| AMES & o
dEs 7Y 10,000,000& 10,000
02 S3=gHl 76,530 62,846 13,684
OZ2S23ZHAl 40,000,000 40,000
O =H| 14,000,000 14,000
OAI2 ZHI= Xl 13,530,000 13,530
Oxtgrset] 9,000,000& 9,000
206 MH=Hl 22,200 27,200 25,000
01 MZH| 22,200 27,200 /5,000
Olgs d88 =29 Me 7 10,600
OMEE HBE Fwsd Asorz
2,000,000& 2,000
ORclEds =9 1,300,000 1,300
oHEegs =% 700,000 700
ongza 600,000 600
oontA=3 1,000,000 1,000
OA&IIA & AlEEH| =
50,0003 40 2,000
OAH&IA & AIE&H| FelL
50,0002/%10S 500
OBl 2 uet 500,000 500
OJIHREZE & 24 & 7Y
2,000,002 2,000
ONES HEH AJISR0H SE0/0 72
2,800,000 *23] 5,600
0AIIC20 BiY 7Y
300,000 *2H 600
OA3Ic2H 8 7Y 200, 00024 47H 800
OUEE HERY o2 H2H(H2,01A3)
4,600,000 4,600
307 elztol & 88,000 88,000
05 2I2ERE 88,000 88,000
ouot+= S WEHJI= Xel
88,000,000 88,000
401 Al HIZ R 0HbI 65,000 65,000
01 AlZ8| 65,000 65,000
OLMI| ZE Xl 20,000,000& =171 20,000
Ot 2S5 WA 15,000,000& * 171 15,000
OANEES B3 M 10,000,000 10,000




SN HATRID
33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONHEE dEd ddetl(AH0Io S)2+
20,000,000& 20,000
AsHHIE =AHB4Z X (EX) 170,000 170,000 0
= 34,000
= 17,000
Al 119,000
301 EtE N = 170,000 170,000 0
= 34,000
[ 17,000
Al 119,000
14 JIEt2d=3 170,000 170,000 0
OSsHHE =HEd=S X
170,000,000 170,000
= 34,000
< 17,000
Al 119,000
SHEGHR M DI ESAI (B X) 114,000 132,857 18,857
= 79,800
< 11,400
Al 22,800
101 @124H| 92,000 110,857 18,857
= 64,400
=S 9,200
Al 18,400
04 JIZtN2Z2 XS E+ 92,000 110,857 18,857
Oot=2 2801+ el At
92,000,000 92,000
= 64,400
=S 9,200
Al 18,400
201 =3 3,000 3,000 0
= 2,100
= 300
Al 600
01 At 2|l 3,000 3,000 0
Ot ==H] 3,000
oot &L II4=H Xl At
3,000,000& 3,000
= 2,100
== 300
Al 600
202 04l 2,000 2,000 0
= 1,400
s 200

-
|




2A:

X XH -
o=

AT
HIl=2cl

elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 400
01 2L AL 2,000 2,000 0
O3 2401401 K2l Mgl
2,000,000& 2,000
= 1,400
= 200
Al 400
307 @120l & 17,000 17,000 0
= 11,900
= 1,700
Al 3,400
05 212t =S 17,000 17,000 0
Ot MDA Xl At
17,000,000& 17,000
= 11,900
= 1,700
Al 3,400
I=HUlE SSEGHE &5 XM (EX) 30,000 30,000 0
= 9,000
Al 21,000
401 AIEHIZ SR OHYI 30,000 30,000 0
= 9,000
Al 21,000
01 Al&H| 30,000 30,000 0
OdsHble Ss86tE &5 K& MY
5,000,000 67K 2~ 30,000
= 9,000
Al 21,000
MEHIIZ HEHEAE X AY(EX) 120,000 81,000 39,000
=S 24,000
Al 96,000
401 AIEHIZ SR THYI 120,000 81,000 39,000
< 24,000
Al 96,000
01 Al&H| 120,000 81,000 39,000
OUEEIIZ HE BIEAIE £X X&
120,000,000 120,000
= 24,000
Al 96,000
W 20t HIIZ2 HMel XNF(EX) 100,000 64,000 36,000
=S 30,000
Al 70,000
307 @I2t01 & 100,000 64,000 36,000
== 30,000




SN BAKRD
mal: oISl

Rl MEHDIS XL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 70,000
05 212t =S 100,000 64,000 36,000
OSsHAM =H & HEX2 X2
100,000,000 100,000
== 30,000
Al 70,000
sAPIH =HBMH XNAMB(EX) 23,710 24,181 24T
= 7,113
Al 16,597
301 EtE N = 23,710 24,181 A4
= 7,113
Al 16,597
14 JIEt2 a3 23,710 24,181 AT
OlsEII7 =AMl Xd
23,710,000& 23,710
== 7,113
Al 16,597
M2t =3l HM8E 2 useEsE M (EX) 13,624 12,484 1,140
= 4,087
Al 9,537
201 Ler23| 13,624 12,484 1,140
= 4,087
Al 9,537
01 AtR2t2|HI 13,624 12,484 1,140
OMEES =1 ness Nd
13,000,000& 13,000
s 3,900
Al 9,100
OMEES =80 AHES N
624,000 624
= 187
Al 437
A =dIE EXIAY 3,000 190,000 187,000
201 er2 3| 3,000 15,000 212,000
03 A= I 3,000 0 3,000
O NA+HE 2R 23 A 2
3,000,000& 3,000
30t 2E2 201,680 170,880 30,800
201 2egh=3| 201,680 170,880 30,800
01 At2t2lt] 201,680 170,880 30,800
O =ZH| 67,200
ostdllstd S5 2
8,000 x100H*70S 12043 67,200
Olll=H| 96,400




2A:

AT

M Ho|22el
elr MEHIISHel (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OSAZSRHIIZ =HA Y= 7
50,0003 * 1204 & »23| 1,200
odllstd HA=
150,000 *70E 23| 21,000
O&Z0IsHd &St
60,0003 *70F *23 8,400
O&rZ0lskd oF2t X))
40,0002 +70Y 23| 5,600
od0lstd ¢et=
400,000 x70F *13| 28,000
O&tZ0IsHd 2etst
200,000&x70E * 13l 14,000
od0lsta <2 70,0003 ¥70F *13] 4,900
O2td0Ietd L3X7|
50,0003 *70E *13] 3,500
odllztd 223 Bl ¢
70,0003 *70E * 13| x2S 9,800
0=l 38,080
O&tZ0Istd S2A =l
8,000 x70H «68! 38,080
SMEHE 29 1,138,810 1,082,428 106,382
201 B2 AY| 372,950 337,568 35,382
01 A=R2teld| 39,315 64,093 AN24,778
O =2H| 28,844
0SAZ HMRINL goxx
800,000& 800
042 HAL POHYIEY £42
170,000 = 1204 & 2,040
OBAIZE XMalAld A2otMate|CHE
220,000& =121 & 2,640
O2AlE MolAlE Moot 2te|
12,114,000& 12,114
O3AE M2ANE A2F P (SEKXI, AR
o EES) 300,000 300
O8AZ2 MelA4 HEIIEE =2
800,000& *13] 800
OSAI2 MalAIE HZ2U EIIZA
935,000& 935
O3Al2 MalAlE EIIEA =2
,370,000& *13] 2,370
O384Al=E EHIEE L & SEZA ==
= 1,040,000 * 12| 1,040
OSAE HRINE RABARE 442
650,000& 23] 1,300
O3AZ2 MaAE EHEI =2
2,500,000& 2,500
O84AIZ2 MalAld &I|&H|l HIIHA
1,200,000& 1,200
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2A:

AT

33 Hol=2c
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0S4Z M S0/AE HEAAf
805,000& 12 805
Oll=H| 900
OSA= XMlAld 22N /s & otdg)
300,000 34 900
O=t| 3,45
OS4lE Mgsgsr =M
8,000 =3 * 12« 1204 = 3,456
Ogx= 6,115
O84al2 XMelAME D] dEa
142,840 1204 & 1,715
OSAEXelAE Kokt ¥ 82 &E4
e gxt 2,200,000 #23] 4,400
02 S3=gHl 333,635 273,475 60,160
023232 Al 264,29
Oa==ER=3 14,295,000 14,295
odJIR= 250,000,000 250,000
O =H| 9,340,000& 9,340
OAE2E =X 10,000,000 64 60,000
202 04| 2,000 2,000
01 2K 2,000 2,000
OSASXIl N=8E g2
2,000,000 2,000
206 M=l 91,860 91,860
01 MHZH| 91,860 91,860
OS42 XelAlg 849, 2595 74
10,0003 %2021 £ +300H 6,000
OS4=ER WIS &8 sY 7
75,0002 *3E*2562 57,600
O3al2 T2eAE 2828 7Y 18,060
O&IIXH & 100,000 x105+32] 3,000
oY 7Y 6002 6 250 = 1204 2 1,080
ogds F¢
0002 +6E+ 1001 = 1204 4,320
Oo0tA3 F¢
1, 2002 «6E*25I1 1204 2 2,160
OEZ/EE 1Y 20,0003 x20JH+53] 2,000
OJHESE ¢ & Fela 2
150,000& *30S 4,500
OFIMEBE MM S) 1,000,000& 1,000
OSAE HelAd Ue E5H 2
50,0002 *17kg* 1291 2 10,200
207 ARl 210,000 180,000 30,000
03 Alg & -1H] 210,000 180,000 30,000
SHE XMclAE BERE 45+
210,000,000 210,000
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2A:

AT

33 Hols22
Ctel: dEHDI=Xcl EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 364,000 269,000 85,000
05 2IMRIE =3 354,000 269,000 85,000
OS4EF HDIZ A= (S4E)
50,000,000& 50,000
OSAER HIIZE RIE(FL.=H)
80,000,000 80,000
O3SAEF HIl2 21Xl XMeld
200,000,000 200,000
OSEE 2 (HEE L=t HOI2)
24,000,000& 24,000
401 AlZHIZ S OHYI 100,000 100,000
01 A28l 99,100 99,100
SAHSXCY S=AIE HESA
100,000,000 *99. 1% 99,100
03 Al 20HHI 900 900 0
OSAESH2E AL HLSA
100,000, 0002 *0. 9% 900
405 KHaHF S| 8,000 52,000 244,000
01 ML ESF SHI 8,000 52,000 44,000
O 0|58 Y 8,000,000& 8,000
OHEE(AAE) 24 1,001,040 916,913 84,127
101 21AH| 44,400 37,026 7,374
04 JIZtN2Z2XNSE+ 44,400 37,026 7,374
O 29 e 22
44,400,000 44,400
201 er23| 38,800 18,644 20,156
01 At2teltl 32,600 12,444 20,156
O+ 27,600
OANESE IHEAME M2
7,444,000 7,444
OANEZEE IHEAIE ZIIEA
20,155,300 20,156
08tz 5,000
OANEE= UWEAE BE+Xcl St
5,000,000& 5,000
02 S3=gHl 6,200 6,200 0
OS2 Al 2,500,000& 2,500
OAlI2ZHI= X 3,700,000& %12 3,700
207 ARl 53,840 22,093 31,747
01 H1E4H] 53,840 22,093 31,747
ONESEUEH AR2CES
53,840,000& 53,840
301 EetE2 N = 4,000 29,150 225,180
4Bt 2as 4,000 29,150 N25,150
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2A:

AT

33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF=2 ZAEDIZHTAE FoNEd
H 2SXE= 4,000,000& 4,000
308 AXIHSO0IA 850,000 800,000 50,000
07 HXHH 2L RES 850,000 800,000 50,000
OZMYD| WY L A2AY SYRHD
850,000,000 850,000
401 AIEHIZ R 0HYI 10,000 10,000
01 Al&HI 10,000 10,000
O=4 N2E2 HRIE 2222/(LRH)
10,000,000& 10,000
METR SlHIE AXIAE(EX) 3,685,200 1,856,667 1,828,533
= 837,000
< 2,031,100
Al 817,100
401 Al HIZL 01| 3,685,200 1,856,667 1,828,533
= 837,000
== 2,031,100
Al 817,100
01 Al&HI 3,677,110 1,849,983 1,827,121
OYE N3 +HE EX| At
3,677,110,000& 3,677,110
= 834,907
== 2,026,021
Al 816,182
03 Al 20HHI 8,090 6,684 1,406
OYS N3 +HE EX| At
8,090,000& 8,090
= 2,093
< 5,079
Al 918
Mg 2g2¢c 275,350 157,850 117,500
201 er23| 220,000 84,000 136,000
01 At2teltl 5,000 24,000 219,000
O eS| 3,000
OMEEERFL AFESE 7Y
3,000,000 3,000
O=¢&H| 2,000
olgEde g2d =S
2,000,000& 2,000
03 A= SHI 215,000 60,000 155,000
O =g A2 J20 &
15,000,000 15,000
OX0btes =g Mgusy =g
30,000,000 30,000
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2A:

AT

33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ox2=# Mz20l =H
170,000,000 170,000
202 04dl 2,000 2,000
01 2L AL 2,000 2,000
OoNgsae| gexd 2,000,000 2,000
206 M=l 20,850 22,850 A2,000
01 M= HI 20,850 22,850 22,000
Oso8ly 2202 M
2,000 *3,8000HK 7,600
OO0 AE =10t M=
1,000& +6,0000H 6,000
OFZHEY =22z S5 M&
350% *15,0000H 5,250
Ollsef =HE 7Y 100,000 *20H 2,000
307 glztol & 7,500 20,000 A12,500
05 2ItRIE = 7,500 20,000 A12,500
Ol AL 2,500,000& 3= 7,500
405 KHoHF S| 25,000 19,000 6,000
01 ML ESFSHI 25,000 19,000 6,000
OH=s =Hg 28 1,000,000& * 15 15,000
O33)12 12183 =0l & MEI| 7
5,000,000 =2CH 10,000
L0150 AXIAH(EX) 140,000 0 140,000
= 42,000
Al 98,000
405 AHatE = 140,000 0 140,000
= 42,000
Al 98,000
01 ML ESFSHI 140,000 0 140,000
OFZHEY R0Is|+=)| &1
140,000,000 140,000
s 42,000
Al 98,000
L0l 3l4=J| Xl ArH 29,700 21,200 8,500
201 er23 | 28,700 20,200 8,500
01 At22t2lt] 3,500 2,200 1,300
ONESZ S 2 & =22 HF 3,500
oOMeES S 82 =Y M
2,000,000& 2,000
ongss s U2 A
5002 *3,0000H 1,500
2 35244l 25,200 18,000 7,200
ONEES Relz=)| 238
350,000 +6CH+ 1200 & 25,200
202 04t 1,000 1,000 0
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SN HATRID
33 Hols22
Rl MEHDIS XL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,000 1,000 0
OFlg)] PR 1,000,000& 1,000
Cta2l&J1 GOOD BUY! 12/&3 GOOD BYE! & & XIS ALS 2,250 2,250
201 er23y| 2,250 2,250
01 AtR2t2|HI 2,250 2,250
OE4= & JIEt 83 & - 7Y
900 *500H+50H 2~ 2,250
THZREE XD Mel 2AlEE 2E(EX) 162,200 0 152,200
= 76,100
Al 76,100
101 @124H| 127,200 0 127,200
s 63,600
Al 63,600
M IIRINZENSES 127,200 0 127,200
O RS M| XMel ZAIRE el24H|
127,200,000& 127,200
[ 63,600
Al 63,600
201 2= 25,000 0 25,000
[ 12,500
Al 12,500
01 At2t2ltl 25,000 0 25,000
OIfRE Xef0] XMel AL Xe axtz
12,500,000 »2CH 25,000
= 12,500
Al 12,500
UM MEEHIIS SESI| FHAXS SZHH) 16,000 0 16,000
(#%)
== 4,800
Al 11,200
201 =3 16,000 0 16,000
< 4,800
Al 11,200
01 At2teltl 16,000 0 16,000
O=ES)| XS 3N
16,000,000 16,000
= 4,800
Al 11,200
ASEHD =22 2,943,110 2,472,997 470,113
[ 1,407,180
Al 1,535,930
HOISAIE &2t 70,798 97,655 N26,857
201 =3 25,328 22,185 3,143
01 AtR2t2lt] 20,008 16,865 3,143




2A:

AT

S HoI22e
Rl AISEHD |22 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oet=2| 8,612
OHDI=Z AIHE 2| HRF&
1,098,000& 1,098
OHDIZ QESE ZAt 1,000,000& 1,000
OHDIZ HHEZ A AHBA
45,7002 203 914
OHDIZ 22IEY MRES 7Y
1,200,000& 1,200
O%LF ZUIHE AAE HZHAL
1,000,000& 1,000
O==28% HIIE HE=H Xcl
3,400,000& 3,400
O1l=t| 900
OHDIES HMelgil S5=(46te) 2
300,000 *3H 900
o=l 1,536
OHYIg Y F|Its gR2Fa
8,000 x4G x4 U120 & 1,536
ogxt=z 8,960
OHJIZ HE =tel &HH| Xt
800,000 *13] 800
OSTAMPE 2AIA2 I Y%t
680,000 = 120H& 8,160
02 3324l 5,320 5,320 0
OAIEEHI R 3,320
O%UF ZULIHY AIAE SX2el
110,000& = 12042 1,320
O%H 2UHEZ MM BHEel w
2,000,000& 2,000
OXEH Y (SAE SR XHY)
2,000,000& 2,000
202 04d| 900 900
01 =LHO4 b 900 900
OAMEE HDOIS2el RFE
20,0003 *3H * 153 900
206 =4I 4,570 4,570
01 M=l 4,570 4,570
OHDI2 &&= MH==8 7
5,000 20074 1,000
COHII2 dAt AleS 2
10,0002 %1004 1,000
OHDIZ AT ot mA sy Doy
2,570,000& 2,570
307 212+01 A 40,000 70,000 A30,000
05 QIZtRES 40,000 70,000 230,000
O2x HIOI2Mel(AEE & XEEDIE S)
40,000,000 40,000
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SN HATRID
33 Hols22
Rl AISEHD |22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AEHDI IS 2L 57,952 58,662 AT10
201 er23 | 6,752 7,462 AT10
01 AlR 21| 6,752 7,462 AT10
OEIEEN-1] 4,000
O HII2 M2l 50t U NEHY o
= 1,000,000 1,000
O=ESEAMN & HEEA 28T A
1,000,000 #32] 3,000
O=gH| 1,152
04 HIISBE 250} L TR XX
8,0003 x4 +3&d~ 1204 = 1,152
O2x=z 1,600
Od& HDIS SE0HE =&H St
800,000& 22 1,600
202 04l 1,200 1,200
01 =LHA LI 1,200 1,200
OZE o=l =
20,0002 x4 x153] 1,200
307 @12t01 & 50,000 50,000
05 git?(& =S 50,000 50,000
OZLX HIOISH2(ALHIIE S)
50,000,000 50,000
=2l0IE HMelXJ(EX) 2,814,360 2,316,680 497,680
= 1,407,180
Al 1,407,180
402 2I2F X201 & 2,814,360 2,316,680 497,680
= 1,407,180
Al 1,407,180
03 2IZ+RAETAIEHI 2,814,360 2,316,680 497,680
O=d0IE MelX& 2,814,360,000& 2,814,360
[ 1,407,180
Al 1,407,180
HY2EIHI(FAXR D 66,180 63,660 2,520
J23HI(FAXE D 66,180 63,660 2,520
J=2BH(FE AR 66,180 63,660 2,520
202 04dl 56,400 54,000 2,400
01 =LHNHI 56,400 54,000 2,400
OSEEZ 0| 100,000 «47& 1201 2 56,400
203 =4l 9,780 9,660 120
04 FAE2EERFAH 9,780 9,660 120
OF AR 815,000& 122 9,780
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